Seat No. Enrolment No.:

Gujarat Technological University
Diploma Engineering C to D Bridge Course Examination 2016

Subject Code: C320903 Date:03/06/2016
Subject Name: D.C.CIRCUITS
Time: 10.30 AM TO 12:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2, Make suitable assumption wherever necessary,
3. Each question is of 1 mark.
4. Use of SIMPLE CALL.CULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is anthentic.
No.  Question Text and Option. Y sl [Ascul.
1. Charge of electron is
A, 1.602X 10" B. 1.602X 10
C. 1.602X10" D. 1.602X 10
1. Bdsglet oll W sedl 8.
A, 1.602X 10" B. 1.602X 10"
C. lLe02X10" D. 1.602X 10™
2. Mass of electron is
A, 9.108 X10™ kg B. 9.108 X10™* ton
C. 9.108 X10 gm D. 9.108 X103 mg
R.  Bdsglele] €0 32 B.
A, 9.108 X10? kg B. 9.108 X10™! ton
C. 9.108 X10? gm D. 9.108 X10*!' mg
3. When there are less than electrons in the outermost orbit of atom, these electrons
are called the free electrons.
A 7 B. 8
C. o6 D. 4
3. AR AeH ol deal Wlele Hl l oot BAsZLet flat B AR Aol 4l
BAsglel sdalal B.
A 7 B. 8
C. o6 D. 4
4, Current 1is equal to
A.  t/Q ampere B. txQ ampere
C. Qxtampere D. Q/t ampere
¥. sl =
A, t/Q ampere B. tx Q ampere
C. Qxtampere D. Q/tampere
5.  Full form of e.m.f. is
A. Electron motion force B.  Electrical machine force
C. Electro motive force D.  Electron mass force
W emf of Y3 ollH g B,
A. Electron motion force B.  Electrical machine force
C.  Electro motive force D.  Electron mass force
6.  Work required to be done to move unit positive charge from one point to another in the

circuit is called
A. Current B. Power
C. Voltage D. Power factor
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10.

10.

11.

9.

12.

2.

13.

13.

YAe WBEBR s A As W2 Ul ollat WSoe Yl A ol 12 5l
usdl stel ol sdaua 8.

A 52 B e

C.  deo D, ylaz ¥sez

Property of a material to oppose the flow of electric current through it is called
A.  Friction B. emf

C. Power D. Resistance

HRRaA ol 522 ol [AAU scloll oRud o g sécua 8.

C. yar D RResu

Resistance R is equal to

A WV B. VxI

C. vi D. IxV

AR R =

A IV B VxI

C. vi D IxV

luQ-=

A, 107 Q B 10° Q

C. 10°Q D. 10°Q

lpQ=

A, 107 Q B. 10° Q

C. 10°Q D. 10°Q

Material which allow the current to flow easily through them are called
A.  Semi conductor B.  Dielectric material

C. Conductor D.  Insulator

HRRaud ¥ wuigll 522 udcus ol R U8 A dol 9 sdaua .
A A ssseR B s8sdcys wRRaw
C. 4sse? D sagyde?

Resistance of a conductor depends upon

A.  Length of conductor B.  Temperature of conductor
C.  Cross section of conductor D.  All of the above

55522 oll R Slell BUR R AU B.

A, gss2? ol ol GuR B.  gsseR ol 210U GUR
C. gs55e2 ol Sl Asael GUR D, Guell wluy
Resistance of a conductor is directly proportional to

A.  Weight of conductor B.  Cross section of conductor
C.  Conductivity of conductor D.  Length of conductor
$5522 oll AR Slotl UYL 1L B

A. §5523 oll dosel B.  g5522 oll wUSDE

C. gsser ol $s(z2(Q8l D. §5522 ofl cioues
Germanium is

A, Conductor B. Imsulator

C.  Super conductor D.  Semi conductor

L GURMETIR)

A 55522 B.  gorydex
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14.

Y.

15.

.

16.

6.

17.

9.

18.

1c.

19.

20.

R0.

C. yuz ssse D. Al ss522
Paper is

A.  Conductor B. Insulator

C.  Super conductor D.  Semi conductor
quR g 8.

A gsseR B.  gorgde?

C. yur 55522 D. Q] 55522

Resistance of copper wire of length 100 m and diameter of 5 mm. (Specific resistance
of copper is 1.7x10% Qm.)

A B66x10°Q B. 8.66x107Q

C. 7.66x10°Q D. 866x10°Q

slUR claAR 5 Bofl coltss 100 m el A 5 mm 8. dl doll AU 20, (
sluR ol [@QBRe y@RY 1.7x108 Qm )

A, B866x10°Q B. 8.66x102Q

C. 766x107Q D. 866x1072Q
Conductance (G) =

A, 1/XL B. 1/L

C. 1R D. 1/C

55520 (G) =

A, 1/XL B. 1/L

C. 1R D. 1/C

Reciprocal of resistivity is known as

A. Resistance B. Inductance

C. Conductor D. Conductivity
ARE[QAE] oll &zt A Aoil &l B ouLaltHl 21d B,

A dRrecd B.  $sseod

C. §sse? D se@d

For metal with increase in temperature resistance

A. Increases B.  Does not change
C. Decreases D. Remains constant
A2el HL dluHlel delddl WaRl

A qa D B, geatdl o2l
C. u2d D. wum 23 D.
For insulator with increase in temperature resistance

A. Increases B.  Does not change
C. Decreases D. Remains constant
Boryde’ Hi dluHlel dticl R

A afl ® B wealdl ael.
C wd D w28 8.
With constant temperature V/I =

A.  Constant B. Decreases

C. Increases D. None of the above
AN dlUHLel V/I =

A wyum 2} D B. 4@,

C. a9 ®. D. Gu ol 1l ol As oL o8l
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21.

1.

22

2.

23.

3.

24.

Y.

25.

Y.

26.

RS,

27.

9.

Ohm’s law is applied to

A. Inductor B.  Capacitor
C. Resistance D. Semiconductor
wleU oll [an slal alo) ud 8.

A SsseR B, 3Rez

C. IRt D. Al sss22
Work / time =

A. Energy B. Power

C. Joule D. Volt

st / yH =

A Qo B yar

C. %C‘t D. CD.C‘B
FXr=

A. Torque B. Work done
C. Power D.  Energy
FXr=

A as B. 5

C yar D. Rotafl

When the length of a wire is increased to 4 times and its diameter is doubled, its
resistance

A. Wil not change B.  Will become doubles

C. Will become four times D. Will become half

o2 clla? ofl cloltss ¥ 2R(l el cald otHRl scll HL wA & _U? RR2U
A weelldl otell B el udl

C. yowl ad D. sl udl

When we Convert voltage source of 16 V and internal Resistance 2 Q into current
source

A, L=2Amp &Rs~=8Q B, Lk=8Amp & R~80Q

C. L=2Amp&R=2Q D. Lk=8Amp&R+~=20Q

UL AWUBL 15 e el Bo2olel AR 2 Q oll cleey AL ol 522 Ul

UL uRa(dd s3lA @R

A, L=2Amp&R~8Q B. L=8Amp&R+~8Q

C. L=2Amp&Rs~=20Q D. Lk=8Amp&R~=20Q

When we Convert Current source of § Amp and internal Resistance 2 Q into Voltage
source

A. V=16Volt & R=2 Q B. V=2Volt&R=2Q

C. Ve=2Volt& R=16Q D. V&=16Volt& R~ 16 Q

U2 AUUBL ¢ AR el Bo2wlel AR 2 Q ol 522 AR o Al
A 1 WRaldd 53R @

A. V=16Volt & R=2Q B. V=2Volt&R&=2Q

C. Va=2Volt&R—160Q D. V=16 Volt & Rs= 16 Q

When three resistance of 10 Q are connected in series , their equivalent resistance 1s
A, 333Q B. 10Q

C. 30Q D. 30Q

U2 10 Q oll 2Bl R ol AR Hi lsatHl wd RUR Aol MM
AR 9 U,
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28.

RC.

29.

QC.

30.

30.

31.

34.

32.

3.

33.

33.

A, 333Q B. 10Q

C. 3.0Q D. 30Q

Three resistors of 10 Q, 20 Q & 30 Q are connected in series across 120 Volt supply.
Power loss across 10 Q resistor is

A 10W B. 20W

C. 40W D. 30W

A2 10 Q, 20 O el 30 Q all 2Bl 3R o Al Hi 120 dlee el W

oflscll Hi U l 10 © W2 Hi Secll wa cld aa 8.

A, 10W B. 20W

C. 40w D. 30W

Three resistors of 10 Q , 20 Q & 30 Q are connected in series across 120 Volt supply.
Power loss across 20 Q resistor is

A B0W B. 20W

C. 40W D. 10W

¥R 10 Q, 20 Q ual 30 Q il 28l 2o ol Al Hi 120 dlee el WU
aflsell HL A dl 20 © 2RR22 Hi ¥2cll waR clal awa 8.

A, 80W B. 20w

C. 40W D. 10W

When two resistors R & R» are connected in parallel current through R, is
A, IRi/(Ri+Rz2)) B. HKR2/(R2+Rz))

C. IR (Ri-Rz)) D.  HKRo/(Ri+R2)}

w2 A 2R Ry ol Ryal AHid? Hl wlsal Hi aud & U Ry 1l 4l 3edl

522 UAR A B.

A.  IRJ/(R1+R2)) B. KR (R2+R2))

C. IRo/(R1-R2)) D. KR2(Ri+R2))

24 V battery is connected across a series combination of three resistors of value 2 Q,
4Q & 6 Q. Voltage across 6 Q resistor is

A 6V B. 2V

C. 12V D. 4V

AR 20,40 Wl 6Q el AR 2o o Ar(l Ui 24 dlce el WA wlsal

Hl A dl 6 Q 2RReR ol Wl HL S2cll Al &9l

A. 6V B. 2V

C. 12V D. 4V

24 V battery is connected across a series combination of three resistors of value 2 Q,
4Q & 6 Q. Current through 2 Q resistor is

A, 2Amp B. 6Amp

C. 4Amp D. 12 Amp

RAUR 20,40 el 60 ol el A2 ol Al Hi 24 clice Al WA sl

LA dl 2 0 2RRe: Hl ol 3ecl 522 uAR AL

A, 2Amp B. 6Amp

C. 4Amp D. 12 Amp

When voltage more than the emf of a cell is needed, required numbers of cell have to
be connected in

A. Parallel B.  Series Parallel combination

C. Series D. Parallel Series combination

2R A oll emf 5cdl AR ey ofl 32 8lal AR As sl atll? A o
56 3ld glsal Hi 2w B.
A yHLdR B. el auidR slelldast Hi
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34.

3Y%.

35.

34,

36.

36.

37.

39.

38.

3¢.

39.

C el Do aidz el slellAset Hi

When current required is more than the capacity of a cell, required numbers of cells
have to be connected in

A. Parallel B.  Series Parallel combination

C. Series D.  Parallel Series combination

U} AA ofl AHAl $cll A 522 ofl %32 lat UL A5 53l AU Ad o
5¢5 dld oslsal Hi wd B.

A QiR B. ol aricR slellalaet Hi

C el Do aidz e slellAeet Hi

In parallel circuit value of the equivalent resistance is the least resistance of the
element

A. Less than B.  Greater than

C. Equalto D.  Greater than or equal to

AHIAR A5 Ul AHde ARReoR ofl Bt A e 1l el 2RReR sl
_8ad,

A el sla B B.  qukalad

C et 8 B. Do 3wt 8l B
The point at which two or more elements meet is called

A. Branch B. Mesh

C. Loop D. Node

s (lg 5 22l A5 53l aw Al dou w dsl

A gled sda B. Qe sdalat

C qu séawa D olls sdala

Two lamps 40 W, 230 V and 60 W, 230 V are connected in parallel across 230 V D.C.
supply. Current taken from supply is

A, 435A B. 435A

C. 435A D. 435A

40W, 230 Valal 60 W, 230 Voll d AU ol UHIAR Hl 3¢l & dl awetlal Hl

3l st 3ecll s2e A,

A, 435A B 435 A
C. 435A D. 435A
Which is a active element

A. Resistor B.  Voltage source
C.  Capacitor D.  Inductor
o{lAetl Hidll AGE2a AT s2ll D.

A JReR B dcw A
C. ¥}Re? D.  ¢sse?

An element in which the voltage current relationship is same for current flowing in
either direction is called

A. Unilateral element B. Linear element

C. Bilateral element D. Nonlinear element

AEA N2 ¥ RUL Al el 5322 oll Aok, AR 522 WA Bal Hl ad AR
wull slat dl Aol g sdaua,
A yolldezet AE@INe B @Ree A@AAE

6/11



40.

¥0.

41.

¥4a.

42.

¥R.

43.

¥3.

44.

¥Y¥.

45.

¥U.

46.

C  wsded AlAN: D Ae@Raz ANz

Silicon diode is a

A.  Unilateral element B. Linear element

C. Bilateral element D. Nonlinear element
R@slot stalls g 8.

A yollderad AN B. @R A@AAe

C.  wsded AlAN D. oo @R A@AAE

A network in which electrical properties are not changed when the input and output
terminals are interchanged is called

A.  Asymmetrical network B.  Bilateral network

C.  Symmetrical network D.  Unilateral network

azad ¥ wul Sotye ud wuBeye 2ileled o SoeU 53 ol WGl sl
ojeuud ot slecua dll dal g sdaual.

A QYR set Aeab B.  wusdze dedb

C. ddlsc seab D. yolldezet Aeab

Three resistors of 15 Q are connected in delta. Each resistance of equivalent star
connection will be

A, 10Q B. 400

C. 5Q D. 30Q

AL 15 Q oll MRReR A dcal Ul W3 B. dl @I Salsalel UL £5 AU

RRReR ofl (Bud 9 udl.

A, 10Q B. 40Q

C. 5Q D. 300Q

Three resistors each of 8 Q are connected 1n star. Each equivalent resistances for delta
connection are

A 24Q B. 12Q

C. 6Q D. 48Q

AL 8 Qoll AR A AR Hi WA B. cll dcal solsaol Hi €5 UHCU
ARReR ofl (Bud 9 udl.

A, 240 B. 120

C. 6Q D. 480

Condition for maximum transfer of power from the source to the load is
A. Rs>RL B. Rs<RL

C. Rs=R. D. Rp.=0

A Ul Als dRs HeTH ULER glodsR sall HI2 ofl ARd 58 B.
A. Rs>Ro B. Rs<RL

C. Rs=R. D. RL=0

Unit of charge is

A, Volt B. Watt

C. Ampere D.  Coulomb

Ul oll AsH g B.

A e B. de

C. Anflar D scdw

When a charge of 1 coulomb flows per second through a conductor, the value of
current is

A, 6.242 X 10'® Ampere B. 1 ampere turn

C. | ampere D. 1 ampere hour
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¥5.

47.

¥9.

48.

¥C.

49.

¥e.

50.

Yo.

51.

uq.

52.

.

53.

u3.

A2 s gelol AR Bls Ass W2 ales Hidll e al, «l s22 ol Bud

yecll udl.
A, 6242 X 10'® Ampere B.
C. 1 ampere D.
1 mC (milli coulomb) is equal to
A. 103C B.
C. 10°C D.
1 mC (milli coulomb) =
A 10°C B.
C. 10°C D.
Relative permittivity of air is
A.  8.854 X 1071 farad/metre B.
C. 8.854X 10" D.
gal ol RARa ul&lll 32cl B.
A. 8.854 X 107'? farad/metre B.
C. 8.854X 1012 D.
Permittivity of vacuum is
A.  8.854 X 107 farad/metre B.
C. 8.854X 107" D.
gealasil ofl uilélldl 3ecll .
A, 8.854 X 107" farad/metre B.
C. 8.854X 1012 D.
Which of the following is correct
A, es=exsg B.
C. &=g/¢ D.
o{lAott uiell 53f [Qruat w1y B.
A &=exeo B.
C. s&=e&/¢ D.
Two like charges
A.  Attract each other B.
C.  Repel each other
ol UMt W
A As ofl A sy B B.
C. As ol A wwsY B D.
Two alike charges
A.  Attract each other B.
C.  Repel each other D.
o AAHLL W
A Qs ol A s B B.
C. As oflogt A wwsA B D.
The magnitude of force between two charges is
A. Inversely proportional to the B.
multiplication of the charge
C. Inversely proportional to the D.
square of the multiplication of
the charge

o W A ol Wl of uRMRL g Ul

1 ampere turn
1 ampere hour

10°C
10°C

10° C
10°C

1 farad/metre
1

1 farad/metre
1

1 farad/metre
1

1 farad/metre
1

e=te/¢gp
£ =E0XE

e=e/g
Er=E0XE

Neither A or B
All of above

Aua B Hl As el o8l
GUR ol wltl

Neither A or B
All of above

Aua B Hl As el o8l
GUR oll il

Proportional to the multiplication of

the charge
Proportional to the square of the
multiplication of the charge
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54.

uy.

55.

uu,

56.

us.

57.

ud.

38.

uc.

59.

uc.

60.

A yof ol IJRUSIR ol el B of o1l 9JQUSLR oll AHYMIEL ML

YHLBL ML
C. yef ot adl o JJRUSLR oll D. yef st adl ot ojeust? st
clycl YHIBL HL AHYHLLL HL

Two charges of 7 uC and -4 pC are kept in air at a distance of 0.1 m. Force acting
between the two is

A. 2 newton - attraction B.  25.1 newton - attraction

C. 2 mnewton - repulsion D.  25.1 newton - repulsion
7pC sl -4 pColl ol AL A gl ML 0.1 m 2R AUA B cll vial <A of ua
seq udl.

A 2 oyeet - syl B. 251 oyeet - ausrQ

C. 2 ogjeat — wsrgl D 251 oot — 2wy
When an uncharged body is brought near the charged body, the uncharged body gets
A. Attracted B. Charged

C. Repelled D. No effect

w2Al? UAULSS GllSl ol W oSl WA Avtell Hi A RUR, BelAs olls]
A usld a B yf aa

Co ausd wa D. 88 R o1l AL

Volt =

A. Joule/coulomb B. Joule X coulomb

C.  Coulomb/joule D.  None of the above

cllce =

A o / geEu B. o x gdu

C.  sdu / ya D. Gurell digl As vl «igl
Dielectric strength of which material is maximum.

A.  Air B.  Bakelite

C.  Transformer oil D. Glass

o{lAetl Higll s HRRAA ol slasalses wWot WY au 8.

A gal B Qlause

C. ool s D s

Property of is to store charge.

A.  Capacitor B.  Inductor

C. Resistor D.  Semi conductor

ULS ALe scll oll oLt Hi 8.

A 3Rk B.  @sse?

C e Dl 5522

Capacitance C =

A. QxV B. V/Q

C. Q/V D. None of the above

5URlesU C =

A, QxV B. V/Q

C. Q/v D. Gu? ot digll As uyl gl
1pF=
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S0.

61.

5.

62.

5R.

63.

S3.

64.

S¥.

65.

SU.

66.

S6S.

67.

SJI.

A. 10°F B. 10"7F

C. 10°F D. 10?F

1 pF=

A. 10°F B. 10“F

C. 10°F D. 10?F

For capacitors in parallel which one of the following is true.

A. Ceq = C; X C2 B Ceq = Ci+ CZ

C. Ceqq =Ci/C2 D. Ce =UCi1+1/Ca
5URRR oll UMLAR slsiel He (Aot Higll 53 Qtuet W .
A. Ceq = Cl X C2 B Ceq = Ci+ CZ

C. Cq=Ci/C D. Ceg =1/Ci+1/C2
Energy stored in capacitor is

A, CV? B. 141C*V?

C. 1%BCV? D. C%V?

3URERR ML dedl Aetof 2ole Lzl

A, CV? B. 1/ C*V?

C. 1CV? D. C¥V?

For capacitor the time during which the charging current decreases form In, to
called the time constant.

A, 3681 B. 1Ia

C. 2Tn D. 3681

3URe? {2 sa uHeuol £fue, AL 522 1, Ul wll A 2L

Aol 2L8H Sloveod SECUL.

A 3681n B. 1In

C. 21 D. 3681

Whenever flux linked with the circuit changes

A.  Power is induced B. EMFis induced

C. Current is induced D. None of the above

U2 UEe WA [Aos ud sy weclad B U

A YR Geust A B, B, EMF Geuol al B,

C. g2z Geuol w B, D. Guaet uigll As wl ol

Fleming’s right hand rule is used for finding

A. Induced emf B. Force

C. Torque D. None of the above

sAHlol oll arvel &l ol Pl 9 dlbal M wa 8.

A. Gewsl Udl EMF B.  wa

C. 2% D. Guaell uill As ueL o8l

For emf generation which of the following is required

A.  Conductor B.  Relative motion between conductor
and field

C. Field D.  All of the above

emf Geual sal M2 o{lAetl Hiell Aol %32 B.

A ass B.  qes wa fles 92 wdat o]

C. e D. Gu2 ol w

For dynamically induced emf e =

A. Blvsin® B. Blv cos©

C. Blv/sin© D. sin®/Blv

staaMlse{l Geuol Uddl emf M2 e =

1s
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68.

5C.

69.

5c.

70.

90.

A. Blvsin® B. Blv cos©

C. Blv/sin© D. sinO/Blv

Energy stored in magnetic field of a coil is

A. LP B. WKLY

C. WLP D. L7

SlSA ol Aoaldls fles i ecll Aaof] ole wl B.

A. LFP B. WL

C. WLE D. L

In rise and decay of current in an inductive circuit time constant A =

A, LxR B. L/R

C. R/L D.  None of the above
dossed AFe Hi 522 oll ctRL Aal Yalsl HI2, 2lsu slkee »—
A LxR B. L/R

C. R/L D Guaeu wigll As ueL 8l

A coil of 10 Q resistance and inductance of 1.5 H is used on 200 V d.c. supply. Time
constant of the circuit is

A. .15 second B. 15 second

C.  6.67 second D. 1.5 second

10 Q 2R Wal 1.5 H 8552 oll SIS 200 V d.c. Al Ad x3c 8.

dl uSe ol 2lsu slree Secll alal

A, .15second B. 15 second
C. 6.67 second D. 1.5 second

s e s ok stk sl skl Rk R R
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